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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  Wolf Hall 
 

1p 1 Which of the following fits the gap in the text? 
A acknowledging 
B adding to 
C discussing 
D focusing on 
E simplifying 
 
 

Tekst 2  The NHS 
 
“It is essential for all staff to be able to raise any concerns they have.” 
(laatste zin) 

2p 2 Welke twee factoren verhinderen dit nu, volgens Amanda Casey? 
Geef antwoord in het Nederlands. 
 
 

Tekst 3  All that glisters 
 

1p 3 What is the main point made in paragraph 1? 
A All relationships are imperfect. 
B Appearances can be deceptive. 
C Romantic love is generally undervalued. 
D Wealth and matrimonial bliss are unrelated. 
 
“a grand bazaar of golden caskets” (paragraph 2) 

1p 4 Why does the writer characterise Tinder in this way? 
He wants to make clear that using Tinder 
A improves the process of finding a compatible partner for singles 

looking for true love. 
B leads to indecisiveness as users are trapped in a never-ending cycle 

of swipes. 
C offers numerous opportunities to find potential dates on the basis of 

superficial qualities only. 
D results in people feeling isolated in a deceitful environment of fake 

interactions. 
 


